Stainless Steel Y Actuator NO.: KST-004

Material Table

25 26 27 28 6 1514 13
12
No. Name Qry Material No. Name QTY Material
1 Indicator Screw 1 PVC 15 Piston O Ring 2 FPM/NBR
2 Indicator 1 PVC 16 Piston Support Ring - ABS
3 Snap Ring 1 Spring Steel 17 Piston Tile 2 Nylon 66
4 Gasket 1 SS 18 Spring 9 Spring Steel
5 Outer Gasket 1 ABS 19 | Left Spring Housing . Nylon 66
6 Cylinder 1 SS 20 | Right Piston Housing ' Nylon 66
7 Upper O Ring 1 FPM/NBR 21 | Spring Housing Screw | * SS
8 Upper Support Ring 1 ABS 22 | ORing for End Cap 2 FPM/NBR
9 Inner Gasket 1 ABS 23 End Cap 2 SS
10 Drive Shaft 1 SS 24 End Cap Screw - SS
1 Lower Support Ring 1 ABS 25 Adjusting Screw 2 SS
12 Lower O Ring 1 FPM/NBR 26 | Adjusting ScrewCap 2 SS
13 Plug 2 Rubber 27 |Adusting Screw Gasket| 2 SS
14 Piston 2 SS 28 |Adusting ScrewORing| 2 FPM/NBR
Double Acting Output Torque
Qutput Torque
Double Acting Actuator Output Torque
Stroke
Output Torque Table of RT Series Double
Acting Pneumatic Actuator (N.m.)
Model Air Supply Pressure (Unit: Bar)
25 3 3.5 4 45 5 55 6 f 8
RT-045D 8.4 10.1 11.7 135 15.1 16.7 184 20.0 23.4 26.7
RT-060D 148 17.7 20.6 236 26.5 29 .4 32.3 353 411 47.0

RT-0850 | 4509 ] 550 | 642 | 733 825 | 916 | 101.1 | 110.1 ] 1281 | 1461

RT-105D 66.8 80.1 93.4 106.3 120.3 133.3 146.3 160.3 186.3 213.3
RT-125D 139 167 195 223 . 250 278 303 333 389 444
RT-140D 217 261 304 348 . 391 434 478 521 608 595
RT-160D 285 341 398 455 | 512 577 625 682 795 909
RT-210D 732 879 1025 1172 | 1318 1465 1612 1758 2051 2344

Single Acting Output Torque

Single Acting Actuator Output Torque
Output Torque ‘Dutp ut Torque

Stroke

45" 0 45 30°

Air Stroke Spring Stroke

Output Torque Table of RT Series
Single Acting Pneumatic Actuator (N.m.)

Aur supply 2 5Bar 3Bar 158w 4B 4 5Rar \ SBar TBar I ABar
— | w|o]w]lo]lw]eoe]w] o]l ] > | 2
Erg Start | Ena Clart Erd Start Era Starl Era | Stan Era
5 35 | 67 | 52 1 84 | 6901 w0 |65 | nnz7lw2] 133 ne
B 2B ) 42 T.7 55 L | 7.5 11.0 " 127 4.3
7 s4a |32 70| 49187 16603l 8z 120 13.7
o 63 |30 |80 |56 | 97| 73 [na| es |130] w06 | 147 ] 122 ]| 120 156
) 73 | 46 | o0 | 63 lw07] 79 {123 96 |40 113|173 we6l206] 179] 8o | 62
10 } 83 | 53 mc-l 70 | 16| 86 133[1&3{155 136 | 199 159[ 98 | 68
T 93 |60 10| 77 1126 22 lwol 126193160 ]| w0a] 75
12 W3l 67 |120] 82 153 nrlwee| 10| nal e
5 |92 | 63 | 121193 |1511122] 20| 151 ] 209 20| 239 | 210 85 | 56
8 | 81 | 46 | 10| 76 l1ao|105] 6o |12a] 98] 6al2e| 193] 257 | 222 102 | 68
7 99 | 59 | 129 | 88 | 158 H?I 87| 147 | 21.3 246 | 205 | 275 | 235 I 1na| 79
oo I w7l 71 |1w7|worl17e| 30205 150235 ee 264 218 | 323 | 276 136 | 20
9 136 | 84 | 65| 13| wa| z2lza]l 172l =3l2o1|n2]l20]380]318] 153 ] 101
10 154 G 184 125 | 12 155 | 242 1824 S0.0 | 243 iS58 | 301 170 112
i 17.2 106 § 201 138 | 231 16.7 B0 ) 26 348 84 187 123
l 190 | 211 ?FDIIS':&I??E 209 33?];-53':-0: 134
7T | 26 458 A53 | S50 | 444 641 Bl1E g ! &7 290 18.4
8 Bol2o1142212951513 138716051 478leme 501788 | 661 3
3 203 | 146|385 |237 | 476 |20 SeB| 20659 [ 512] 51 | 603 | 843 | 605
or-oess |2 I 3-1&] IHEIIH-D 27 1 53.1_353]523 45 4 ?14T545 806 | 637 aaale.?n:r_
) 03 |213]1#5]| 051586| elere]weleolsiols2] 62| 113
10 SB|2a7 |49 | o lear |0 2|22 |ome|70s] 110 | 2ae | 579 | 368
T 513 | 2810601 |72 |@c|4alero|ear| w06 | 230 | 636 | 204
12 568|315 650|642 5eo| 102 | 772 | 604 | 441
5 |412| 272|545 405|678 [538] 611 | 671 ] 044 | 804 %5 | 254
6 |62 193|495 |226]628 |459] 761 | 592 | 894 | 725 16 | 221 474 | 05
7 #44 24715771 380] 710|513 843 | 646 T 552 | 356
I & 526 | 301 1650 | 434 | 792 | 567 06 | B33 2= | 631 | 406
RT-1055 S B G A5 6 741 48 G 115 167 142 710 | 457 I
L] oS 410 107 162 134 TES | 508
T 21| 157 | 126 | 868 | 558
12 a2 [ 152 | e | o46 | 609
5 BF 1 SE2Z2 INMNAT] BAD 141 1 1E9 135 197 167 B2 B2 6
8 |56 |27 |w02lera] 13110511150 1231 w6 1501 214 178 | 242 | 206 1| 651
7 928 |509J1205]| 786 | 148 | 106 | 176 | 134 200 | a2 | 232 | w82 | 28 | 217 15 | 736
B 110 [621 [1376| 898 | 165 117 | 193 | 145 | 221 | 173 | 248 | 201 | 304 | 256 132 | 841
e 127 | 734 | 155 | 101 | &2 | 120 | 210 | 156 | 236 | 184 | 200 | 230 | 349 | 295 | 148 | 946
10 144 | BAB 172 112 200 140 227 168 P A L8 278 165 105
T 61 |ose ] 180 | 123l 217 | 151 | 272 l206 | 228 | 262 | 181 | 116
12 179 | 107 | 206 | 135 | 262 | 100 | 38 | 245 | 128 | 126
5 1135 |es2| 178 | 122 1 222 | 175 | 265 | 219 | 209 | 262 | 352 | 305 129 | 823
6 | 119 |624 | 162 | 106 | 205 | 149 | 249 | 190 | 202 | 226 | 336 | 280 | 379 | 223 155 | 9e7
| 146 | 801 | 189 | 124 | 232 | 167 | 276 | 210 | 319 | 254 | 363 | 297 | 408 | 341 | I TIH EIG
H 173 a7 7 216 141 259 185 A0 Wy A 2712 I 5 4TT 0 205 12
Ri-1408 9 200 | 115 | 243 150 | 286 | 202 | 330 | 249 | 373 | 289 | %60 | 376 | 547 | %62 | 232 | 148
0 227 | 130 | 270 | 177 | 313 | 220 | 357 | 263 | 444 | 350 | sa1 | 4a7 | 258 | ves
T 264 | 151 | 297 | 194 | 340 | 238 | 427 | 342 | 514 | 411 | 284 | 181
12 280 | 6R | 2a | 2] 411 | 299 | 498 3|6 | 310 197
5 170 | 118 | 228 | 174 | 285 | 231 | 342 | 288 | 308 | 344 | 455 | 400 l | | I | 6 | 112
& | 140 | 844 | 206 | 141 | 262 | 198 | 310 | 255 | 376 | 311 | 433 | 368 | 480 | 425 199 | 135
7 83 | 108 | 240 | 165 | 297 | 221 | 353 | 278 | 410 | 335 | 467 | 291 | 524 | 44 233 | 157
B 218 | 131 | 274 | 188 | 331 | 245 | 388 | 202 | 444 | 358 | 501 | 415 | 615 | 528 266 | 180
-1 s I 262 | 155 | 300 | 212 | 265 | 268 | 422 | 225 | 470 | 382 | Sa2 | 495 | 706 | €00 | 299 | 202
0 | 286 | 178 | 343 | 235 | 400 [ 2a2 l 456 | 349 | 570 | 462 | 683 | 575 | 2 [ 224
T 320 | 202 | 377 | 259 | 434 | 315 | 547 | 420 | 661 | 542 | 365 | 247
12 355 | 225 | 411 | 282 | 525 | 396 | 638 | 509 | 399 | 260
5 265 | 582 | a12 | 728 | sse | 875 | 705 | 1021 851 | vies | oee 467 | 297
6 172 1523 | 310 | 669 | 465 | 816 | 612 | 962 | 758 | 1100 ] 905 | 1256 | 1052 S60 | 356
7 463 | 224 600 | a1 | 7 518 | 902 | 664 | 1049 ] 811 | 1196 ] 958 | 1342 | 1104 854 | 416
H 550 278 697 425 B4 571 ) TI1B I 1137 | BES 1283 | 1011 | 1576 | 1304 I T47 475
RT-2108 b | 6a7 LX) TA3 478 a0 1077 T2 1223 Q918 1516 | 1211 | 180G | 1504 B4 535
0 724 | 384 | 871 | 531 | 1018 | 678 | 1164 | 824 | 1457 [ 1117 | 1750 | 1410 | 934 | S04
1 a2 438 G50 EAL 1MMos 1 73 1308 | 1024 | 188 | 137 | 02T 653
12 800 | 491 | 1045 | 637 | 1338 | 930 | 1631 | 1223 | 1121 ] 713

NAMUR Gl/4° StandardAir Inlet

Model A|lB]J]C|D]|E F|1 G| H | J K L \ M l N I Z | AirConnection
RT-045 | 48 | 711 | 40 | 67 | 97 |245]| 36 | 50 M5x7 ME x 8 11 162 16 | 80 | 14 G
RT-060 | 59 Bﬁ.ﬁ. 48 | 83 |113|27.5] 36 | 50 M5x8 MEx10 | 14 | 182]| 16 | 80 | 14 | G\
RT-085 | 70 | 112| 60 | 115]145|295| S50 | 70 | M6x12 | MBx12 | 17 |270]| 16 | 80 | 20 G
RT-105 | 95 | 128 | 68 | 127 15?.3?.5 70 1102 MBx12 | MIOx12 | 22 |292] 16 | 80 | 24 G
RT-125 | 97 | 151 ' /8 | 1571197 1405] 70 | 102 | MBx16 | MIOx18 | 22 | 372 22 | 130 | 29 G4
RT-140 | 115 1?2- 88 | 178 213. 44 | 102|125| M10x 18 | M12x18 | 27 -4551 22 l 131']] 30 G
HT-1ED.11B.1Eﬂ. QU-EEI}-24D‘ R '102 125-M1UH1B-M12H1B. 27 .4?5 22 11301 30 | G
40 G

RT-210 | 140 | 232 | 110 | 257 | 297 | 48.8 140 Mi6x20 | 36 | 628 | 32 | 130




